RED 00'(#
R <
<

THIRD BRAKE LIGHT BRACKET
WITH USA FLAG

(2021+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS

1) Third Brake Light Bracket
) M6x1.00 x 20mm Allen Bolts
) M6 Flat Washers

) M6 Nuts
)

(

(2
(6
(2
(2) #12 x 25mm Allen Screws

TOOLS REQUIRED

T-30 Torx Key/Socket
4mm Allen Key/Socket
Ratchet

SKU # FB16211
Edited: 06/13/2022



’
REDROCK:
z

STEP1

Remove the spare tire from the vehicle. Remove (4) T-30 Torx screws from the third brake light
assembly. Allow the third brake light assembly to rest to the side.

STEP 2

Secure the third brake light bracket to the tire carrier using (2) M6 x 20mm Allen bolts, (4) M6 flat
washers, and (2) M6 nuts. Tighten until secure.



’
REDROCK =
z

STEP 3

Align and secure the third brake light assembly to the previously installed bracket using (2) #12
screws and (2) flat washers through the tire carrier. Secure the upper (4) holes using the original
T-30 Torx screws.

STEP 4

Installation is now complete.



	FB16211 - RedRock - Third Brake Light Bracket with USA Flag (21+ Bronco)-01
	FB16211 - RedRock - Third Brake Light Bracket with USA Flag (21+ Bronco)-02
	FB16211 - RedRock - Third Brake Light Bracket with USA Flag (21+ Bronco)-03

